ASSEMBLY INSTRUCTIONS

Notice:

1.Follow the installation instructions.Please confirm all accessories are preset before installation.

2.Do not fully tighten the screws during initial assembly,Fully tighten screws only once all pieces
which are correctly assembled.

3.If you encounter any problems during installation,please contact our customer service







P.2

X3

1.5"

X 2

X 2

X2

X3

14"




P.3

A

M6X42

B @15x10

22 PCS

D

F o6x40

)

28 PCS

H M3x18

4 PCS

This Cam Lock Fastening
System will be used
throughout the assembly process




P.4

E M3.5x12

6 PCS

LLd @1

LL @ —{ -

0 O Co

oo

06 0oo(

25 o

E M3.5x12

4 PCS




P.5
3 D wmsx40 F @6x40
4 PCS
A
E M3.5x12




i

P.6
5 F  @6x40
/ 4 PCS

10m

%

Yy \%7 7 i'

A Mex42

10 PCS




i

P.7
B 215x10 [F @6x40
W
10 PCS 10 PCS




i

P.8




P.9
10 D wmsx40 F @6x40
10 PCS 10 PCS

10m

10




P.10

11

These two wheels have brakes. E m3.5x12

32PCS

©

12 PCS

installed on the same side.

The lockable casters must be




P.11

12

A Mex42

12 PCS

H m3x18

4 PCS

o

1PCS

B @15x10

C wmaxis

|







P.13

E M3.5x12

17

B @15x10

C wmaxis

|

2PCS




i

P.14

18

19

D

M5X40




P.15

i

20

E M3.5x12

4 PCS

21

5 O

oo




i

P.16

22

8 PCS




P.17

24

E M3.5x12

2 PCS




i

P.18

25

/

Installation Completed






